B&FEmMzE BERSVAF—IYvURiZE HBRIF7—I=a2—5—

JAL -JTAZ JL—F F 8 (202144 5 F ZR1E)

@

20214 58 28H

210095

JAL-JTAY L—T M ZES# (T RBEERIRIC DT, 2021 F4 A O#EER GRIRME) £ EUFELEDHFLS
DTTHEWNLET,

<REEHEELE >
N RE
Bt RESH(N) | FIFEL G |REESRGE) | MEL® | FAEG AEAEE®
JAL-JTAY L—J &5t 254,550 280.5| 526,986 124.0 48.3 21.4
AIER JAL 118,363 316.4 204579 109.3 57.9 20.0
JTA 107,987 263.0 272415 150.5 39.6 22.7
RAC 27,071 229.3 47,400 87.8 571 219
JAC 1,129 243.3 2592 96.4 43.6 17.3
N RE

R B4 RES(AN) | BIFL® | REEHGE | AERG | MAEG%  ETERBE®)
FIH=EH JAL 95611 3039| 159,984 102.8 59.8 20.2
FH =3 JAL 17,825 2995 35,391 1124 50.4 18.9
BEfE =A% JTA 5,843 2218 19,140 1275 30.5 175
1B =3REH JTA 17,993 2946 40,920 158.0 440 23.6
PH=H1E JAL/JTA 10,799 504.2 22,104 262.7 48.9 255
FH=%% JAL/JTA 6,636 532.6 10,860 205.7 61.1 23.6
Bl =H1E JTA 3,478 408.2 9,900 3158 35.1 27.2
==t JTA 238 - 660 - 36.1 -
hEf=H1E JTA 962 - 1,980 - 48.6 -
hEi==1 JTA 844 - 1,980 - 42.6 -
h =38 ER JTA 10,244 3104 32,010 196.0 32.0 20.2
[ 1L = AR 2R JTA 2,397 293.8 9,900 150.0 242 12.4
INA =P SR JTA 1,758 255.2 9,900 200.0 17.8 13.9
MBE=TWEKXE RAC 512 146.7 1,300 59.1 394 15.9
MBE=5 RAC 1,521 391.0 2,950 98.3 516 13.0
ISR = Kk REB JAC 1,129 243.3 2592 96.4 43.6 17.3
By MRET 177,790 315.3 361,571 128.8 49.2 20.1
MHE==0 JTA/RAC 28,647 197.6 64,050 1184 446 26.7
MEFE=F1E JTA/RAC 22,751 2519 53,9856 136.2 421 22.8
MB=AKE JTA/RAC 10,584 247.2 22,600 105.0 46.8 19.9
MB=RIKE RAC 2,102 160.9 4,250 955 495 29.3
MBEFA=1L KEK RAC 1,003 185.1 1,450 935 69.2 35.0
MBE=5RE RAC 1,507 290.9 3,000 101.7 50.2 17.6
Eh=%2EM RAC 2,289 2224 4,000 76.9 57.2 19.8
BMAE=IKE RAC 872 1741 1,450 100.0 60.1 34.6
RiE=5E RAC 4144 259.0 6,100 85.3 67.9 22.4
=Eho=FHi8 JTA/RAC 2961 2714 4530 73.7 65.4 17.7
B AHRET 76,760 2235 165,415 1147 46.4 23.8
EHARR RS 254 550 280.5 526,986 124.0 48.3 214
TEMRREET 0 - 0 - - -
SHRIESE 254 550 280.5 526,986 124.0 48.3 21.4
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P =3ARER JTA 86 80.0
faht = AR 25 JTA 317 138.7
FIH=HR1E JAL/JTA 207 282.1
FH==% JAL/JTA 119 261.0
A =HhiE JTA 59 317.2
=1 JTA 0 -
hEf=%h18 JTA 1 -
hE==1 JTA 0 -
h &R =FRER JTA 193 154.2
] lLU=3ARZR JTA 47 214.0
INA=FRER JTA 2 15.0
MBE=EXKE RAC 1 47.7
MEBE=5 RAC 1 101.2
RS RET 1,033 162.1
MBE=Ea JTA/RAC 790 119.8
MEF=H1E JTA/RAC 516 116.4
MB=AKE JTA/RAC 125 119.3
MB=FAKE RAC 25 142.4
AMEF=1L K=K RAC 11 1115
=5 BE RAC 20 83.5
BEOG=%EM RAC 20 141.6
BAAE=1tKE RAC 10 144.0
AiE=5H RAC 43 133.0
BEa=HiE JTA/RAC 18 139.9
B AHRET 1,577 119.1
EHRIESE 2,609 133.1
TEHBESET 0 -
SRS E 2,609 133.1
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